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Aufgaben-Quickname: 7946

Aufgabe 1
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 222
100 = 2,22 b) 992

10000 = 0,0992 c) 835
100 = 8,35

d) 62
10 = 6,2 e) 56

4 = 14 f) 98
125 = 0,784

Aufgabe 2
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 262
10000 = 0,0262 b) 885

1000 = 0,885 c) 25
100 = 0,25

d) 206
10000 = 0,0206 e) 24

25 = 0,96 f) 51
10 = 5,1

g) 100
1000 = 0,1 h) 49

700 = 0,07

Aufgabe 3
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 126
10000 = 0,0126 b) 261

1000 = 0,261 c) 985
1000 = 0,985

d) 9
300 = 0,03 e) 80

25 = 3,2 f) 17
25 = 0,68

Aufgabe 4
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 658
100 = 6,58 b) 776

1000 = 0,776 c) 848
100 = 8,48

d) 916
1000 = 0,916 e) 100

1000 = 0,1 f) 38
20 = 1,9 g) 256

160 = 1,6

h) 400
200 = 2

Viel Erfolg!
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